Re pai r Chart m Be sure to read the Shop Manual before service task.)
GX120/160/200/240/270/340/390

12N-m (GX120)
24N‘m (GX160/200)

HONDA

Fuel System Inspection ernor System Assembly

¥ Gov

GX200
(]

H GX120/160
000,
~_ o Loosen

O Tighten
GX120/160/200

24 N'm*
35 N'm**

22.5 N-m**

[:] GX120/160/200
B

| - - 128 N-m (GX240/270)
Continuity\ = ——
ON :& No 170 N-m (GX340/390)
OFF: ¢ N

NZ
x& Specified Torque Values

J / Indication Model
/ N'm Al

N'-m* GX120/160/200
N-m** GX240/270/340/390

compression stroke EX0.20+0.02 mm

%

!] Piston Position [3 Adjustment
17 Top dead center of IN 0.15%0.02 mm
&)

m Spark Plug sleuuse(450)
Standard Torque Values ‘) 3,900 100 rpm Y 0708mm /9\/
Item Size 1;?"‘?#;9 -( LT (GX120/ 160) T T /) New .
M5 5.3 3 & b 4= | 3,850 £150 rpm « N Plug (180°)
M6 10 = 00 | (GX200/240/270/340/390)
Bolt M8 22 i
Nut .
10 34 Camshaft Installation
M12
M5 5:_3 : Installation GX120/§)I200 Installation
Flange Bolt M6 12 : Use piston ring Attach immediately N‘"’% O o
Flange Nut N before the camshatft. .
Ml\:ﬁ ‘212 Fuel , | compressor. %@,\;%
SH Bolt M6 9.0 S N N 3 o - /
CT FI:nge Bolt M5 54 %%rgig-n GX240/270/340/390 . . '
M6 12 / >
M4 24 Ignition ‘gé@} &g _
Screw M5 4.3 I 0 Remove oil. 128 N-m (GX240/270)
e 90 [ Other 10mm 10 mm 170 N-m (GX340/390)

© 2019 Honda Motor Co., Ltd. R2Z0T000



